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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- All this rumor going around the new manager is baseless and | -—-—--——- it all
categorically.
1) conceal 2) annoy 3) refute 4) replace

2- A number of notable scholars and writers appeared by 788 and, by the last decade of
the eighth century, a cultural revival was in full ~--—---—-- L
1) commitment 2) indication 3) expertise 4) bloom

3- To those captivated by the spell of the free market, nothing seems good or normal that
does not ——-=eveenee with its requirements,

1) emerge 2) accord 3) endow 4) symbolize

4- In my opinion, ancient artifacts are part of our global cultural ---——--—-, which should
be available for all to appreciate.
1) curiosity 2) encounter 3) mythology 4) heritage

5- To make the business world a fair one, the government is doing whatever it takes to
——-——- the development of the minority business sector.

1) accelerate 2) exhibit 3) reconcile 4) uncover

6- One of the main points at --——--—- is that the whole international community wants a
peace agreement to be signed as quickly as possible,
1) issue 2) dawn 3) front 4) summit

7- As Mary academic record was -----------, the prestigious university refused to grant
admission to her.

1) imitative 2) complex 3) mediocre 4) thorough
8- One ----------- of the new pesticide is that it decreases plant fecundity.
1) debate 2) challenge 3) drawback 4) objection
9- He said that developed countries had a responsibility to ---------—-- global economie
growth to help new democracies.
1) intend 2) foster 3) determine 4) compare

10- The hypothesis had to be backed up by empirical evidence in order to be considered

1) delibcr:alc 2) formidable 3) sketchy 4) credible

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

We are so surrounded by gadgetry that it is sometimes hard to tell where devices end and
people begin. From computers and scanners to multifarious mobile devices. (11) --=—--—--
spend much of their conscious lives interacting with the world through electronics. the only

barrier between brain and machine (12) - -- the senses — sight, sound and touch —
through (13) =-=--=----- humans and devices interface. But remove those senses from the
equation, (14) -——--——-- electronic devices can become our eyes and ears and even our arms
and legs. taking in the world around us and (15) ----------- with it through man-made software
and hardware.
11- 1) the increasing humans number 2) an increasing number of humans

3) increasing humans in number 4) humans of increasing number
12- 1) being 2) 18 3)to be 4) are

13- 1) which 2) those 3) those of which 4) them
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14- 1) then 2) and that 3) and 4) whereas

15- 1) to interact 2) interacts 3) they interact 4) interacting

PART C: Reading Comprehension

Dire.:-fimrs: Read the following three passages and choose the best choice (1), (2), (3),

lor (4). Then mark it on your answer sheet.

PASSAEG 1:

In September of 1929, traders experienced a lack of confidence in the stock market's ability
to continue its phenomenal rise. Prices fell. For many inexperienced investors. the drop
produced a panic. They had all their money tied up in the market, and they were pressed to sell
before the prices fell even lower. Sell orders were coming in so fast that the ticker tape at the
New York Stock Exchange could not accommodate all the transactions.

To try to reestablish confidence in the market, a powerful group of New York bankers
agreed to pool their funds and purchase stock above current market values. Although the buy
orders were minimal. they were counting on their reputations to restore confidence on the part
of the smaller investors, thereby affecting the number of sell orders. On Thursday, October 24,
Richard Whitney. the Vice President of the New York Stock Exchange and a broker for the JI.P.
Morgan Company. made the effort on their behalf. Initially. it appeared to have been
successful. then. on the following Tuesday. the crash began again and accelerated, By 1932,
stocks were worth only twenty percent of their value at the 1929 high. The results of the crash
had extended into every aspect of the economy. causing a long and painful depression, referred
to in American history as the Great Depression.

What happened in September 19297

1) Stock prices started to fall low.

2) Many small investors started to buy and sell stocks.

3) Richard Whitney became the Vice President of the New York Stock Exchange.
4) The ticker tape at the New York Stock Exchange had a serious mechanical fault.

The word "their" in line 8 refers to -~--------- -
1) orders 2) bankers 3) values 4) funds
According to the passage, powerful New York bankers —--—--- -

1) were unwilling to increase stock prices

2) benefited from the stock market crisis

3) tried to increase the number of buy orders

4) encouraged smaller investors to increase sell orders
According to the passage, before 1932 -—————-——-- .

1) stocks enjoyed a sudden temporary rise

2) the Great Depression came to an end

3) stocks reached the same value they had in 1929

4) the number of sell orders increased by 20 percent

The passage discusses all of the following EXCEPT ----eeecaeeeae .
1) the reason for the stock market crash

2) attempts made to revive the market

3) a temporary recovery in the stock market

4) the significance of the Great Depression in American history
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PASSAGE 2:

The idea of using paper as money is almost as old as paper itself. The first people to do it
were the Chinese, who made the earliest banknotes over 1.000 vears ago. However, they soon
grew so fond of their invention that they printed far too much and this led to inflation The most
famous issuer of paper money was Kublai Khan, the Mongol who ruled the Chinese empire in
the 13" century. Kublai Khan also confiscated all gold and silver, even if’ was brought in
through foreign trade.

Though explorers like Marco Polo were impressed with the Chinese system. paper money
did not succeed everywhere. In Persia, its introduction led to a total collapse of trade. By the
15" century even China had more or less given up on paper money.

In Europe. the first issuer of paper money was Sweden. In 1661, Johan Palmstruch's
Stockholm Banc introduced the first banknotes. Other European countries soon followed the
Swedish lead. One reason for establishing the Bank of England in 1694 was to print paper
money so that the balance could be kept in a bank account. The bank is now the longest
continuous issuer of banknotes in the world. In France. the Banque Royale was set up in 1718,
It was very successful at first but when people realized that it had issued twice as much paper
money as France total supply of gold and silver. confidence went and the bank collapsed.
Nowadays. national realize that the quantity of paper money they issue has to be regulated.

The real masters of paper money. however, were across the Atlantic in America. And the
father of American paper currency is undoubtedly Benjamin Franklin. the man who features on
today's hundred dollar bill. He was a printer who strongly believed in the benefits of paper
money.

So who has the best banknotes? Almost everybody would agree that America's should be at
or near the bottom. Top position depends. naturally. on taste. although it is often the smaller
countries, such as Guatemala, that print the most attractive notes. In Europe. some experts
praise the modern designs of countries such as the Netherlands and Finland. Australia is a
pioneer in the use of plastic, rather than paper. Over the past decade. most of the countries of
Eastern Europe and the ex-Soviet Union have chosen to introduce new banknotes. The most
attractive are said to be Estonia's and Macedonia's.

What does the passage mainly discuss?

1) The history of paper money

2) The uses of paper in monetary systems

3) The invention of paper money in China

4) The introduction of new banknotes in Asia and Europe

The word "confiscated" in paragraph 1 could be best replaced by --=-=-nnnunux i
1) changed 2) spent 3) took 4) made
According to the passage, the Banque Royale ----=---—-- ;

1) was established in the same year as the Bank of England

2) undermined the confidence of the public

3) printed the most paper money in Europe in the 18" century

4) was very successlul at regulating the quantity of paper money it issued
According to the passage, paper money -----====r===- .

1) traveled to Europe from Persia

2) has been a means ol exchange for about 1000 years

3) has been the main reason for intlation since its introduction

4) was first issued in Europe by a Swedish person
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It can be inferred from the passage that the writer believes -----—---—--

1) small countries followed the lead of developed countries in their mtmdu-;unn of new
banknotes

2) Benjamin Franklin made U.S. dollar the best currency in the world

3) plastic money has advantages over paper money

4) America's taste in banknotes leaves a little to be desired

PASSAGE 3:

In the terms of economist Irving Fisher. capital is a stock of wealth at an instant of time.
Income is a flow of services through time. Capital is the embodiment of future services. and
income is the enjoyment over a specitic period of time. With these definitions. it does not
seem possible to confuse the two terms. One relates to the amount in the reservoir at any time.
and the other refers to the amount flowing out ol the reservoir during a period of time.

When these terms are related to business enterprises. they take on slightly different
meanings. In the above definition, income is the enjoyment from the use of capital: however, a
business enterprise does not exist for the purpose of enjoyment. Its purpose is to provide a flow
of wealth for the benefit of its owners or beneficiaries. Whereas, capital is still the stock of
wealth that can provide future services, income is thought of as the flow of wealth or services
in excess of that necessary to maintain a constant capital. Although a firm may be thought of as
relatively permanent in nature, it is not the responsibility of the accountant to see that the
invested capital is preserved. This is the responsibility of management, or possibly the decision
of the owners or equity holders. The accountant's responsibility is to report the amounts that
have been made available to the beneficiaries lor their enjoyment or reinvestment and the
change in the capital of the enterprise.

What is the main topic of the passage?

1) Relationship between capital and income

2) The role of accountants in measuring income

3) Definition of income and capital according to one economist

4) Applying the economist's definition of income to business enterprises

According to the passage, ———--—-—--——-,

1) income is the same as capital 2) income shows the stock of enjoyment
3) capital shows the stock of wealth 4) capital is more important than income
The word "its" in line 8 refers to —-—---eeeuux "

1) income 2) capital 3) enjoyment 4) enterprise
According to the passage, it is the responsibility of equity holders to -—---——---- .

1) provide accountants with financial services

2) preserve the invested capital

3) report the amounts to the beneficiaries

4) keep record of the money earned or spent by the enterprise

It can be inferred from the passage that ——--—-=-=-=-- .

1) maintaining a constant capital is an important issue in the definition of income in business
enterprises

2) the main purpose of an enterprise is to let its owners enjoy the stock of wealth

3) it is difficult to distinguish between capital and income

4) the terms of income and capital always have the same meaning
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